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King Abdulaziz University
| Faculty of Science
\' Department of Biological Sciences

Final Exam of General Biology (Bio 110)
Semester 1433 \ 1434

This quiz contains 4() multiple choice questions. Each question has ope only one
correct apswer :
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1. Prokaryotes reproduce by a type of cell division called binary fission which
means

a) Split via budding, ¥(©) Dividing in half, ¢) Fragment of the cell.
W) Two ganad:s In one organism.  €) None of the above,
-G:oc[;’ cew) A
2. The samatm cells in human male have chromosomes of the type
a) 224+ X.—> sPeww gy ge‘m b) 22 + Y~ Spaxm com c) ’33+Y
d) 44 + XX, ()44 + xv.
samati'c Fay Fewale L&J’__{?rﬂy,,& vt
3. The process by which the sperms are produced is known as 5
a) Ovulation. Spermatogenesis. ¢) Oogenesis.
d) Gestation. e) Embcryoﬂenesis G <9 a S

“4) I w./" 1 % /_’-w !
4. What is tfe Correct correct order for the 3 stages o m'terp_»hase of cell eycle? - DA an‘/- h25(§

xa)$,G1,G2 1 b) §, G2, G1 c)GI, G2, S 31, 5,452,
x €) there is no certain order™ X V@ 1 ] CYto P‘lrm'c
N IR e A A U PURR T R VIPS Gro
5 During rib cage expands, diaphragm moves down pressure and lung
decreases air is drawn into the respiratory tract. _
s, % 2) Exhalation G wergte p(B)inhalation —» @L< ¢) respiration
~ d) passive diffusion e) active diffusion

—

6 Nucleosomes are formed when DNA js wrapped around proteins.
ﬁ histone. b) chromatin ¢) protosome d) nucleosome
e} None of the above c_,u,.»' e nuckeoSomt & » %7 ( Pacle ..g_ Yona o us R

_‘J‘ \’DJ'” c}.é}-‘y—\-‘ ) oY) l"‘.ﬂ'M# me.w 93 - ws 4)\
7. The uterus cpehs into The gﬁ?{fugh the ol ijl

a) penis — tests b) ovary —- oviduct | Ci vagina - cervix,
d) follicles -- embryos e) birth canal --- penis Jes’ ro/ G
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e) Macrophages & o, S e fmse & eqaip -9
N 24 20 Lagon L) s
v ﬁ: 10. In grasshoppers and roaches sex is determined by: 3 (ants and bees)
mOmmls €2) X-Y system. xb) Z‘_‘;ﬁ*‘ system. ¢) Number of chromosornes
i ol : . trd 0 - "
ol %d) Size of the sex f:hrﬁmogomes. b%?pf./my (X0 system.§ E lcl (Xo)
bves ‘Sh male
el ¢ 1. Atherosclerosis is due to )] (‘m")

~

"

e

(:P Fods i a) ability to regulate internal environment, —2 ﬁ') ‘Cﬂ’-"“) :
véw r%“‘f“ b) maintenance of steady internal conditions despite fluctuations in the external

djc
o }1 of the above,
wé)uﬂgz

b w7 a) plaques narrowed blood vessels (<o) /’7 b) blood flow is reduced

) | B
f"__-'-b r.'J yre )
._ 8. Homeostasis is the : J "-J =)

-

environment, o 2 i D L5
c) maintenance of gﬁemal temperature within narrow limuts, - Hotwme ¢ wlatian
control of the gain and loss of water and solutes. — aSwmo (-.uhw\ o

Rxuaban -5 DsPISal © Fnecbeo gonovi wes {-«:“; meAStASI I s
9. Most of carbon dioxide in the blood is transported as bicarbonate ions in the

oL

lasma

b) Red blood cells ¢) White blood cells d) Platelets

~¢) plaques develop inside walls of blood vessels

d) blood flow is doubled (sueg)]
a~é~b+c are correct choices re— i

-p. i P
b - !_.o,d‘ J} i ] . 05 0
12. The 2 that diffuses into blood attaches to in red blood cells. =
x a) Plasma —» <o b) white blood cells h@mogiobin
z % ' & o
d) platelets ¢) all of the above choices are correct.
s by s
13. In mammals, air enters through the nostrils to the ¥ where it is

» 2> filtered by hairs and mucus, warmed or moisturized and sampled for odor.
a) pharynx @nasal cavity _  c¢) mouth d) larynx ¢) esophagus
(2 e

em

14. Smoking can caus
a) Tung cancer b) heart attacks and strokes
¢) emphysema and increases harmful cholesterol . ,
d) raises blood pressure W hor o)LL |y S
(©)zll of the above choices are correct all 25 Smokain

Transcrvphan

:J‘ ( —‘;) 4 - Tre 4!
- “I5. Translation of mRNA pré;ceg 2t ONA ——> mRNA —1-'_%31._‘; Pratefn
a) DNA b) RNA (©protein. d) glycogen " e) lipid

6. Asexual reproduction can proceed via :
——

a) Budding b) Fission ¢) Fragmentation e)none of the above
o (@l of the above
\ S " RYIYS
17. wastes are toxic breakdown products of protein. acids
Nitmgenous b) Acidic ¢) Basic ‘2 d) Hydrogen  e) CO2
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20. The two sister chromatids are joined together tightly at the -~ Ft T
Narrow region. contromdr ¢
Nuclear envelope WI’ b) Spindle ¢) Microtubules
f@, Centmmera,/ e} Nucleolus
- DG DS ) : W5 a0
21. In kidney , Reabsorption means that water and valuable solutes are returned
: ; > i A LY
to the _ from the .ﬁitrﬁte (42~ Lo v —> (u._»m;)-,s e bk
a) glomerulus b) renal pelvis c) renal cortex
(@)blood ¢) Renal medulla -
' e 2 Fritval-¢f
21. Gas exchange in fish is enhanced by ventilation of the gills and by the
flow of water and blood. ‘ o - N
_ a)Exact b) Different ¢) Analogous  ¢'\¢
) w @Countez:urrem e) Negative “* ek
hlood 2 woktv [law are i epPPas: e diva Chions .
an 23, mRNA is produced in the process called: —=> — e e oo oLl r ~Rn i
” a) Respiration. b) Translation. c) Replication.
(d)Transcription. ¢) Transpiration  Tvenslafa’ et
_ \..C.’@r\e_/\_,) ."_‘-_\DNA WMRNA _> Pf..") )
‘024, Sperm production is regulated by a negative feedback sysfem of hormones and
involves the y pj&uitary.,ﬂmm% 4 bavior
& @Hypothalamus — b) Thyroid o2 c) Thalamus
d) Cerebrum e) Ovaries
- Gastﬂgﬁnnm hollow Jaskvula From haltow blostula.
a) A tow-layered embryo. b) A primary oocyte. .
c) A large number of sperm. d) Mature ova. A three-layered embryo.

C'AD‘CUL-Q

_ 18. The main functions of hieart valves is to prevent the of blood
= - a) overflow P‘ 2 b) intermittent flow E:iiback«ﬂow
o> 2~ d) vigorous flow 5 v €) slow flow =i

19. The sinoatrial node (SA node) in the pacemaker which sets the rate of heart

and generates electrical signals in atria*' &
a) rhythm tractians c¢) relaxations d) resting
e) at+b are correct choices

26. Fach amino acid in a protein synthesis is specified by:
a) several genes  b)apromoter  c¢) iRNA molecule a codon. ¢€)exon

MENG 2 AT Rt e A .
27, Ectothermic animals: e .._..C“\M o UL A (D ¥y o\?u,g‘u-o AZ“C V‘:: ¢
/ a) derive body heat mainly from their metabolism— . daHaawmic

o (B) absorb heat from their surmundings@,eng; ) ¢) include lizards e~
d) include birds G o vt @h and c are correct.
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y 28 The blood clotting process includes — —> (F2 37
®a) platelets adhere to connective tissus @D b) platelet form plug

c) fibrin clot traps blood cells d) the platelet plug is temporary clot
H of the above choices are correct

29. The kidney’s filtrate consists of |
a) solutes b) urea ¢) water d) vitamins
aIl of the above choices are correct Y _-‘- LT 5 12 0,
e 1\ -30. Blood pressure is ] e _
l J}ppa)Highestinarteries—;———-h °fd"J"l°"i’-"’ —(1 B.p )
v b) Decreases as blood moves a;gy from the heart - C/J:.)\(;,;_f,u 2,5V Vaut o
~ ¢) Lowest in veins — ks st U B i
£ e i il £ .}-’/-) -9 )1
* d) Reduced during too much exercise ., o)y € A
@a+b+c are correct choices - because Rx cavcse 2 ama #;'M’ o
' S P blood - pras), 2 RR2YI DN
31. Marine animals that have body fluids with a solute concentration equal to that

of the surrounding seawater are: Cryspm =2 -
a) osmoregulators (B) osmoconforme -'f iel) ¢) hypertonic
d) hypotonic. €) a and c are correct. P03 ©Smovaguistion.
32, _ involves inheritance of unique combination of genes from two
parents. i
a) Regeneration, ' b) Fragmentation. ¢) Budding.
@ Sexual reproduction, ¢) Binary fission. =
- £&— - .
p. LT Ry 2 = s C"’_—'—b a <hvomo Samy C’{”ﬁi V T
33. Which of the following is true ? TR It S
a) Chromosomes are located on genes.: ;—Genes are located on chromosomes.
- ¢) Genes are polymer of amino acids. d) Chromosomes are part of a chromatid,,
¢) Prokaryotes have paired chromosomes CFIEE s o Fosnte 1
< Sagle  Crulor Strall J2s “\:: W)= chromabids
34 A —_1is a change in the nucleotide sequence of DNA.” £2= chvomsjsng
] a) transcription b) translation ¢) modification
L) o i
o f) @Iﬂutatmn._,y Substtwbes,  €) gene expression.
mubedold s W Yy W) (23 _
Rt BSTPVIEiGSiﬁf ’.')-Qf‘-!.\"l'on Sy InSaehion -;-;9s gknvi-! 'm MRNA anm-(-‘
o ) — .
a) occurs in the sex Organs. b) produces sperm. ¢) produces eggs
d) produce haploid cell, @ali of'the above, 2dgas Parrm = 3 amatey y

36. In Mendel's F2 ge; eration, one out of four plants had white flowers because
e ——— i

a) The trait is sex-linked 7 @mﬁ parents were heterozygous purple

¢} One parent was homozygous recessive
: ) - . [} 4—=-w 2Y 9o
d) Both parents were heterozygous white PP > h 22 Jovs

) €) One parent was heterozygous purple Pucple (Daminaut)
Pl ¢
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{  37.The correct sequence of the stages of mitosis is ~ "
a) prophasefanaphase, metaphase, telophase e
Y prophase, metaphase, anaphase, telophase t
c),mﬂiaphase, anaphase, telophase, prophase i
d),metaphase, prophase anaphase, telophasé -
e)x telophase, prophse,anaphase. metaphase.

38. Mendel showed that parents pass heritable factors to offspring, These
heritable factors are now called:
@) Chromosomes:~  b) Chromatids: )RNA.  d)DNA. (E)Genes.
Y g 1755 '
ffx " 39. Cytokinesis in animal cells is accomplished by:
a) Cleavage furrow made by contractile ring of intermediate filaments.
@_le:avage furrow made by contractile ring of microfilaments,
- ¢)Cleavage ring made by microtubules.
d) Binary fission.
e) Cell plate formation—s /s Plant ¢2C(

40. The movement of the sperm tail is due to the:
a) fertilization b) primary spermatogenesis
c) the large number of sperm d) spermatids

A.TP released from mitochondria
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